B & HH#tetT—52 (20255 #)

B’AEH—TA-2—

[BHRRR|ME]
- e 0% 2026%
ARE 5HEE 6H 1R 8HE VA 108 1R 120 1A 2R 3HE

BERIEHRE (HH) 18,816

5| [EEEHE i 1,767
| |=mmmes 534
§ BB GEHRE (A 7,545
Hea A BA 1,120
EHHEBAK 399
—ABRYOBEELY | 4 158

% |ERBREOAHE e 116,990
B |—zuuryors B 66.2

*BA0BRRDT—4




(ZEhHhoEDEALREBEOEFHRTRE]

B & HH#tetT—52 (20255 #)

B’AEH—TA-2—

20244 20254
Pax By
4R E 5AE 6RE THE 8AE 9B E 10A & MAE 12AE 1RBE 2AE IAE
& A E DM IE
| A 717
1 A | BA 717
%= | A 63,048
| A 488
214 A& | BA 244
= | &M 28,772
| Al 305
3 A# [ BA 102
e | EM 14,102
| Al 160
4 A | BA 40
S | &M 6,580
HH | B 97
SHLLE | A% [BA 18
S | &M 4,488
HH | A8 1,767
& A | BA 1,120
%E || 116,990

*BEAWBFROT—4

* MNIRE—MEMERAALTNSH . FEBAHENEENO TN TN ORESHE—BLEVNEELNHYET,



B & HH#tetT—52 (20255 #)

(RERF DR -FINDERLHH. EE]

B’AEH—TA-2—

e e 20255 2026 %%
V] B ry: 5H 68 78 8H 9H 108 118 128 18 2H 38

" 511,486

Bt EM 53,509
- . £3 441,874
fEEn— &M 41.857
FEO—> # 10,826
(DLEFE) Al 2,369
N i 20,856
A—ta—> el 108
HEEREO— e 9
_. # 217
HiffEHERO—> &M 14
_ R 1 37,598
FHEREO— = R
FETEDABE 1 115
HEO— &M 30
£3 482,767

s &M 4,845
. # 17

2:%.\ 3 . =

REERRN— Hg) 0.1
RN 3 92,917
RR— el 556
R £ 146,529
BASRER—> el 1,650
BABRENFAREE | & 8,898
(#7500 EL0-Y [ ED 580
- £ 217,114

EXFE 15 & 2038
oo ER A 4+ 11
BERIEM = 00
SHEES ’-%FEI Y
. T3 17,281
EREEEM B 21
n ;3 994,253

- E[ 58,354

*BA20BHRDT—4
*INIRE—MEEBAALTVSS, REBAFHEAEERND TN ENORESHE—BILAVEEAHYET,



B & HH#tetT—52 (20255 #)

B’AEH—TA-2—

(B
- 20254 20264 _
AL a
ARE | 5AE | 6AE | 7TAE | 8AE | 98K | 10AE | HAE | 2AE | 1AE | 2AE | 3AE
MABEEEEICES
B Bt 1320 1,320
* B A21B~Y A20BETOARDT—4,
[MmABEZEEH]
B 20256 20264
A
AAE | 5AE | 6BE | 7THE | sAE | 9AE | 10BE | NBE | 12BE | 1AE | 2RE | 3AE
MABEEEEHK 1t 306

*EA20ABATINELTWSREHRE,



